SAP ABAP table P0865 {HR Master Record: Infotype 0865 (Mobility)}

T530E
P0865-PREAS = T530E- PREAS MANDT [CLNT (3)]
T T T 0..N
-7 INFTY [CHAR (4)]
-7 PREAS [CHAR (2)]
,” PO865-INFTY = T582A-INFTY T582A
)/ -7 0..N 'MANDT [CLNT (3)]
/ _ -
)/ o INFTY [CHAR (4)]
'~ P0865- 5-MOBM1 = T5F99M1-MOBME
o T - I S
T, S~
/ 7 N
L S P0865-MOBM3 = TSF99M1-MOBME  0.N
/ e -
II // // Phe T - - T5F99M1
/ 7
/I 11,7 P0865- MOBM4 T5F99M1-MOBME 0 N MANDT [CLNT (3)]
reoy, e P
Lre - 0..N
J s * P0865-MOBMS = TSFIIM1-MOBME 0N MOLGA [CHAR (2)]
vy - ---~7 Y+ |MOBME [CHAR (4)]
I ’ -7
T ENDDA [DATS (8)]
nror ) P0865-MOBM6 = TSF99M1-MOBME 0-N — =0
/ = - - P .o
0..N,,m~m..N _ - = - T P //
0.\~ P0865-MOBM7 = TSF99M1-MOBME _ -
// e - -
O.N -~ -
o P0865-RULE1 = T5F99M2-CRULE
0N Tl
’o/ y PO865-RULE2 = TSF99M2-CRULE N
..////’ 5‘\\\\\\ O.N
0.N PO0865-RULE3 = T5SF99M2-CRULE 0.N | TSF99M2
e T ~--___  |MANDTI[CLNT (3)]
o n FPOB65-RULE4 = T5F99M2-CRULE _ 8;11;11 MOLGA [CHAR (2)]
- | CRULE [CHAR (4)]
_-~  PO0865-RULE5 = T5F99M2-CRULE (.N
0. N [ - ENDDA [DATS (8)]
T 0.N0..N
5 /1:1 P0865-RULE6 = TSF99M2-CRULE - !

_—— =

0. N P0865 RULE7 = ToF99M2- CRULE 7

—_—

0-N ' p0865-TYPE2 = TSF99M3-CTYPE -

D\.N T ST =~ O:N\
“_  P0865-TYPE3 = T5F99M3- >
_ PO86S-TYPE3 = TSFOIM3-CTYPE - —erggns
0N e _ [maNDT[CINT (3)]
- P0865- TYPE4 = TSFOOM3-CTYPE  0.N [wores R
ON T - 0.N
*._ P0B65-TYPES = T5FOOM3-CTYPE  |CTYEE [CRAR (4)]
~.. - =" [ENDDA [DATS (8)]
N T - 0.N 0.N
‘. _ P0865-TYPE6 = TSFQ9M3-CTYPE =~ °'
\O\.N \\\\ o ,’/// //
0.N _ P0865 “TYPE7 = TSF99M3-CTYPE _ -

~ -

—_— — —_——

\
0.0ONN:BUN' ~  p0865-WAER1 = TCURC-WAERS

T U U W S
R U U W \ ~~ i mm=a _
RRERER \\ S~ _ - --" T

\\ ‘\ ‘\ ‘\ ‘\ S P0865 -WAER2 = TCURC-WAERS RN N

TR \ N \\

v Ly \\ S - T == - - \\

T Y N ~ <.

L \\ \\ N P0865-WAER3 = TCURC-WAERS \O\NO\N

\ \ N oo oo

v S~ .
Vi e ) TCURC
‘\ ‘\ \\ ~ . P0865-WAER4 = TCURC-WAERS 0.N MANDT [CLNT (3)]
v \\ T~ —
~ - === 0..N
A et etielty WAER KY
\ \\ NN P0865-WAER5 = TCURC-WAERS 0N WAERS [CUKY (5)]
\\ \ R _ - 0 N ‘0..N
\ \ S - _ - - / /
\ S~ _ _ _ __=- - = -, /
v . P0865-WAER6 = TCURC-WAERS -7
\ N /
\ T~ == ’
L e e 7
N P0865-WAER7 = TCURC-WAERS -7



